## Transform Calculus and Its Applications in Differential Equations Prof. Adrijit Goswami Department of Mathematics Indian Institute of Technology, Kharagpur

## Lecture – 16 Solution of Ordinary Differential Equations with variable coefficients using Laplace Transform

So, in this lecture, we will see what are the solution processes for various other types of ordinary differential equations and what kind of problems we may face.

(Refer Slide Time: 00:31)



Consider this problem,

$$y''(t) + y'(t) = t$$
 with  $y(1) = 1, y'(1) = 0$ .

(Refer Slide Time: 00:44)

[y"(も) + 5'(も) = も ; 5(1)=1, 5'(1)=0 も= で+1 5(4) = 5(で)  $\overline{y}(o) = 1, \overline{y}'(o) = 0$  $\overline{y}'(o) = 1, \overline{y}'(o) = 0$  $\overline{y}'(r) = (r)^{2}\overline{r} + (r)^{2}\overline{r}$  $L\{\overline{y}^{*}(0)\}+L\{\overline{y}^{*}(0)\}=L\{\overline{v}^{+1}\}$   $h^{2}L\{\overline{y}(0)\}-\overline{y}(0)-\overline{y}(0)+sL\{\overline{y}(0)\}-\overline{y}(0)$  $=\frac{1}{2}+\frac{1}{2}$ 

The conditions are given as, y(1) = 1, y'(1) = 0. Please note this, that in the earlier problem, we had the conditions at t = 0 only.

Whenever we are finding out the Laplace transform of y'(t) or y''(t), always it will involve y(0) or y'(0) but in this case, we know the values of y(1) and y'(1).

Whenever we are facing such type of problems, then we can make the change of parameter, that is we can substitute t by some other parameter in such a fashion that the conditions that are provided to us at t = 1 turn out to be conditions for the new variable at the point 0 instead, which we will actually require.

Suppose, in this case, if we substitute  $t = \tau + 1$  so that  $\tau = t - 1$ . Then, at t = 1, we have  $\tau = 0$ . Once we are getting this, then the given conditions also will get changed and we will obtain the conditions at  $\tau = 0$ .

So, whenever we are taking  $t = \tau + 1$ , a new function of  $\tau$  will come into the scenario. We are denoting it as  $\bar{y}(\tau)$ . Therefore y(t) turns into  $\bar{y}(\tau)$  after transformation. Since t and  $\tau$  are linearly related, so  $y'(t) = \bar{y'}(\tau)$ ,  $y''(t) = \bar{y}''(\tau)$ . And our problem is now transformed to

 $\bar{y}''(\tau) + \bar{y}'(\tau) = \tau + 1$  with  $\bar{y}(0) = 1, \bar{y}'(0) = 0$ .

Solving this, when we will obtain the value of  $\bar{y}(\tau)$ , then by back substitution, we can evaluate y(t) as well. So, let us try to find out the solution of the converted ordinary differential equation.

We take the Laplace transform on both sides to obtain

$$L\{\bar{y}''(\tau)\} + L\{\bar{y}'(\tau)\} = L\{\tau\} + L\{1\}$$
  
$$\Rightarrow [s^{2}L\{\bar{y}(\tau)\} - s\bar{y}(0) - \bar{y}'(0)] + [sL\{\bar{y}(\tau)\} - \bar{y}(0)] = \frac{1}{s^{2}} + \frac{1}{s}.$$

(Refer Slide Time: 06:11)



Now putting the values of  $\overline{y}(0)$  and  $\overline{y'}(0)$  and simplifying we get,

$$L\{\bar{y}(\tau)\} = \frac{1}{s^3} + \frac{1}{s}.$$

So now taking the inverse Laplace transform,

$$\bar{y}(\tau) = L^{-1}\left\{\frac{1}{s^3}\right\} + L^{-1}\left\{\frac{1}{s}\right\} = \frac{\tau^2}{2} + 1.$$

So, from here, we can obtain y(t) because we know  $\tau = t - 1$ . So, substituting the value of  $\tau$ ,

$$y(t) = \frac{1}{2}(t-1)^2 + 1 = \frac{t^2}{2} - t + \frac{3}{2}$$

(Refer Slide Time: 09:15)



Let us see another similar type of problem:

$$y''(t) + 2y'(t) + y(t) = 2e^{1-t}$$
 with  $y(1) = 1, y'(1) = -1$ .

(Refer Slide Time: 10:04)



Here also the condition is provided at t = 1. So, we have to make the substitution over here.

(Refer Slide Time: 10:17)

We substitute  $t = \tau + 1$  so that  $\tau = t - 1$  and  $y(t) = \overline{y}(\tau)$  and so are the derivatives. Our conditions will be changed to  $\overline{y}(0) = 1$ ,  $\overline{y}'(0) = -1$ .

So, our original equation is transformed to

$$\bar{y}''(\tau) + 2\bar{y}'(\tau) + \bar{y}(\tau) = 2e^{-\tau}$$
 with  $\bar{y}(0) = 1, \bar{y}'(0) = -1$ .

Now, we take the Laplace transform on both sides to get

$$[s^{2}L\{\bar{y}(\tau)\} - s\bar{y}(0) - \bar{y}'(0)] + 2[sL\{\bar{y}(\tau)\} - \bar{y}(0)] + L\{\bar{y}(\tau)\} = \frac{2}{s+1}.$$

Now putting the values of  $\overline{y}(0)$  and  $\overline{y'}(0)$  and simplifying we get,

$$L\{\bar{y}(\tau)\} = \frac{2}{(s+1)^3} + \frac{1}{s+1}.$$

(Refer Slide Time: 13:08)



Now taking the inverse Laplace transform, we have,

$$\bar{y}(\tau) = L^{-1} \left\{ \frac{2}{(s+1)^3} \right\} + L^{-1} \left\{ \frac{1}{s+1} \right\}$$
$$= e^{-\tau} \left[ L^{-1} \left\{ \frac{2}{s^3} \right\} + L^{-1} \left\{ \frac{1}{s} \right\} \right] \quad \text{(using first shifting theorem)}$$
$$= e^{-\tau} [\tau^2 + 1].$$

So, from here, we can obtain y(t) because we know  $\tau = t - 1$ . So, substituting the value of  $\tau$ , we get

$$y(t) = e^{1-t}[(t-1)^2 + 1].$$

So, by changing the scale of t, we can bring some new parameter and we can try to find out the solution by using the condition of  $\bar{y}(0)$  or  $\bar{y}'(0)$ .

(Refer Slide Time: 16:15)

$$\Rightarrow s^{2} L\{\bar{y}(\tau)\} - s + 1 + 2sL\{\bar{y}(\tau)\} - 2 + L\{\bar{y}(\tau)\} = \frac{2}{s+1}$$

$$(: \bar{y}(0) = 1, \bar{y}'(0) = -1)$$

$$\Rightarrow L\{\bar{y}(\tau)\} = \left(\frac{2}{s+1} + (s+1)\right) \frac{1}{(s^{2}+2s+1)}$$

$$\Rightarrow L\{\bar{y}(\tau)\} = \frac{2}{(s+1)^{3}} + \frac{1}{s+1}$$

$$\Rightarrow \bar{y}(\tau) = L^{-1}\left\{\frac{2}{(s+1)^{3}}\right\} + L^{-1}\left\{\frac{1}{s+1}\right\}$$

(Refer Slide Time: 16:21)



Now, let us see another problem:

$$ty'' + y' + 4ty = 0$$
 with  $y(0) = 3$ ,  $y'(0) = 0$ .

(Refer Slide Time: 16:40)



Please note that here, the coefficients of y'' and y' are not constant. Let us see the solution process for this type of problem.

(Refer Slide Time: 17:35)



We take Laplace transform on both sides of the given equation,

$$L\{ty''\} + L\{y'\} + 4L\{ty\} = 0.$$

Now we use the well-known properties of Laplace transform (multiplication by powers of t) as required to obtain

$$-\frac{d}{ds}(L\{y''\}) + L\{y'\} - 4\frac{d}{ds}L\{y\} = 0$$
  
$$\Rightarrow -\frac{d}{ds}[s^2L\{y\} - sy(0) - y'(0)] + [sL\{y\} - y(0)] - 4\frac{d}{ds}L\{y\} = 0$$

(Refer Slide Time: 21:01)

$$Z = L\{y\}$$

$$= \frac{d}{dn} (s^{2} Z - 3n) + (nZ - 5) - 4 \frac{dZ}{dn} = 0$$

$$= (n^{2} + 4) \frac{dZ}{dn} - nZ = 0 + ty^{11}$$

$$= \frac{dZ}{dx} + \frac{ndn}{n^{2} + 4} = 0 + ty^{11}$$

$$= 0 + ty^{1$$

Now suppose  $z(s) = L\{y\}$ . And if we put the values of y(0) and y'(0), then we get

$$-\frac{d}{ds}(s^2z - 3s) + (sz - 3) - 4\frac{dz}{ds} = 0$$
$$\Rightarrow -(s^2 + 4)\frac{dz}{ds} - sz = 0$$
$$\Rightarrow \frac{dz}{z} + \frac{s}{s^2 + 4} = 0.$$

So, whenever we are having this ty'' or ty' or ty, then effectively, we are not getting any algebraic equation, but we are going back to some simplified ODE only. Please note this change.

(Refer Slide Time: 24:00)

$$Z = L\{Y\} = \frac{e}{\sqrt{n^2 + 4n}}$$

$$Y = e \cdot L' \begin{bmatrix} \frac{1}{\sqrt{n^2 + 4n}} \end{bmatrix} \quad L[J_0(x^4)]$$

$$= c \cdot J_0(x^4)$$

$$Y(0) = 3 \Rightarrow 3 = c J_0(0) = e \quad J_0(0) = 1$$

$$Y = 3 J_0(2^4)$$

Now integrating both sides we get,

$$\log z + \frac{1}{2}\log(s^2 + 4) = \log c$$
$$\Rightarrow z = L\{y\} = \frac{c}{\sqrt{s^2 + 4}}.$$

where *c* is integrating constant.

Now, taking the Laplace inverse, we can write down *y* as:

$$y(t) = c L^{-1} \left\{ \frac{1}{\sqrt{s^2 + 4}} \right\}$$
$$= c J_0(2t). \qquad \left( \because L\{J_0(2t)\} = \frac{1}{\sqrt{s^2 + 4}} \right)$$

But we know that,

$$y(0) = 3$$
  

$$\Rightarrow c J_0(0) = 3$$
  

$$\Rightarrow c = 3 \quad [\because J_0(0) = 1]$$

Therefore, the final solution is obtained as

$$y(t) = 3J_0(2t).$$

So, in this case, it is little complex that we are not directly obtaining any algebraic equation, but we are obtaining one ordinary differential equation again. And by finding the solution of the ODE, we are getting  $L\{y\}$  as the solution. From there, we are finding out the final solution taking the inverse Laplace transform.

(Refer Slide Time: 28:44)



In the next lecture, we will take some more examples on this, so that the solution procedure gets more clarified. Thank you.